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t = s[i]
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Start
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Compute triangle Area

Area>Threshold

Compute center of gravity 
of the triangle Vb

Compute the stake index 
of the corresponding 

triangle

stake Index in the 
scope?

dz>0

Print fIlling And excavated 
volume  (Qf,Qc) END

Qc=Qc+Area*dz

Qf=Qf+Area*dz

Compute the altitude difference 
dz=vc.z-vp.z

Compute project point of the center 
point of gravity to DTM: vp

Find the triangle in DEM 
which the center point of 

gravity located in:  tg 

Divided the longest edge of the 
triangle into two triangle t1,t2, 

i.e. t=t1+t2

{Tp}={Tp}+t1+
t2
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